Test
Question one                                                                                                                      [10 Marks]
(A)
Write the scientific term for each of the following statements:                                   2 ½ marks(5x ½)
1. The group of periodic table in which the outer sublevel of its elements is np3.
2. An element with properties intermediate between those of metals and
nonmetals.
3. A transition series which includes elements from yttrium to cadmium.
4. Elements characterized by the complete filling of all the energy levels with
electrons except for the highest level.
5. A group of compounds in which oxygen has an oxidation number of -1.
(B)
Explain why:
                        2 marks (2 x 1)
1. Caesium has the strongest metallic properties in the periodic table.
2. Each successive ionization of an electron requires a greater amount of energy.
(C)
Complete the following table by placing the symbols, formulas and names in the space.

                                                                                                                                                                                       4 marks (8 x  ½)
	Identifying ionic compounds

	cation
	Anion 
	Name 
	Formula 

	Mg+2
	PO4-3
	…………………………………….
	…………………………………….

	………………………………….
	…………………………………….
	Sodium carbonate
	………………………………….

	…………………………………….
	……………………………………….
	Ammonium phosphate 
	…………………………………..


(D) Calculate the bond length in N-H given that:
                           1  ½  marks
The bond length in hydrogen molecule is 0.6A° and the bond length in nitrogen molecule is 1.4A°.
Question two                                                                                                                                                   [10 Marks]
(A) Choose the correct answer for each of the following:                                                             5 marks (5 x 1)
1.
The oxidation number of iron in Fe (NO3)3 is

a- - 3
b- + 1
c- + 3
2.
The elements are arranged on the modern periodic table in order of

                  a- mass number.              b- atomic number                         c- atomic mass.
3. The element whose electronic configuration is [Kr] 5s2 4d10 5p3, is located
in
of the periodic table.
a- group 4A, period 5, d-block
b- group 5A, period 5, p-block
c- group 5B , period 4, d-block
4. element is oxidized in the reaction:……………………………….

BaCI2(aq)+ Na2S04(aq)                                              BaSO4(s) + 2NaCl(aq)

a- Ba 

b- Na                          c- None
5. A substance that can function as either an acid or a base is said to be

a- amphoteric.
b- ionic.
c- basic.
(B) Which group in the periodic has the highest ionization energies?
Explain why.
1 ½ marks
(C) Show by symbolic balanced equations each of the following reactions:                              2 marks (2 x 1)
1. Reaction of sodium oxide with hydrochloric acid.
2. Reaction of carbon dioxide gas with water.
(D)
Which one has more electron affinity (6C) or (14Si) and why?                                                                   1  ½  marks

Question three
[10 Marks]
(A)
Give reason for each of the following:
                                      2 marks (2×1)
1. Nonmetals are insulators.
2. The atomic radius increases from up to down in the same group in the
periodic table.
(B)
Correct the underlined words:
                                      2 marks (4 x  ½)
1. Actinides are called rare earth elements.
2. In the periodic table, the third period contains 2 elements.
3. The number of oxygen atoms uncombined with hydrogen in perchloric acid is five.
4. Elements of (f) block are called representative elements.
(C)
Compare between each of the following:
                                       4 marks (2 x 2J
1. Electron affinity and electronegativity.
2. Noble gases and main transition elements.
(D)
What is meant by:
                                         2 marks (2 x 1)
1. Atomic radius.                                   2. Oxidation number
Test on chapters 1&2

Question one 
a- What is meant by 








4marks
1-oxidation number 



2- Metal oxide

3- Quantum number 



4- Representative elements 

b- Calculate the bond length of lithium chloride molecule providing that :                
· The radius of Li+ ion = 0.68Å                                                                       3marks
· The radius of Na+ ion = 0.95Å
· The bond length in the table salt molecule = 2.76Å
c- Give reasons 









  3marks 
1- KOH ionized in water to give K+ and OH- while H2SO4 ionized in water to give 2H+ and SO4—
2- The spin motion of two electrons in same orbital are opposite
 

Question two 

a- Compare between 








  3marks 
1- Elements of [d] block and elements of [f] block

2- Electron affinity and Ionization energy 

b- Show the oxidation and reduction in the following reactions:

  3marks 
1- Fe2O3 + 3CO  → 2Fe + 3CO2
2- N2 + O2  → 2NO 

3- Pb + PbO2 + H2SO4  → 2PbSO4 + 2H2O             
c- Locate the position of the elements in the periodic table which have the following electronic configuration 





2marks 
1- 1S2 ,  2S2 , 2P6 , 3S2 , 3P3
2- [Xe54] ,6S2 , 4F14 , 5d2
d-   Write down the following equation





2marks 
1- Dissolving sulpher trioxide in water 

2- Dissolving potassium oxide in water 

Test on chapter one
Question one                                                                                         [10 degrees]
1- Choose the write answer from the following

a- An atom have six electrons in (d) sublevel, so the number of half filed orbitals…………………
1- [1]
2- [2 ]

3- [3] 

4- [4]
b- The principal  energy level which consist of four energy sublevels is…………..
1- [k]

2-[l] 

3- [M] 

4- [N ]
c- The maximum number of electrons which saturate the fifth energy level………..
1- [32]

2- [18] 

3- [ 50 ]  

4- [5 ]
d-  It is difficult to find …………sublevel in any atom 
1-[5d] 

2- [3f] 

3- [3p] 

4- [2s]
               **********************************
2- What is the rule of each of the following scientists

a-Hund 


b- Schrodinger 
                    **************************************
3- Give reasons for 

a- Cathode rays is a fundamental constituent of any matter 
b- Zinc sulphide used to detect alpha rays 
c- Although the two electrons of the same orbital have the same negative charge they are not repel
d- The amount of energy needed to transfer electrons between energy levels are not equals

Question two                                                                                        [10 degrees]

1- Write the scientific term for the following sentence

a- The amount of energy gained or lose when the electron transferred from energy level to another one 
b- An atom gained amount of energy by heating or by electric discharge 
c- Electrons must be occupy the sublevel in order of increasing their energy the lowest energy sublevels are filled first 
d- The region of space around the nucleus where it is the most probable to find the electron 
               *****************************************
2-  Mention four of cathode rays properties

                   ******* ******************************* 
3- Writ down the electronic configuration of following element according to Hund's rule and mention two of its valence state 

a- Iron    26Fe    b- Sulpher 16S 

**************************************
4- Compare between orbital and orbit 
